

Rendőr - elv

$$\lim_{n \rightarrow \infty}$$

$$\sqrt[n]{2^n + 3^n} = b_n$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{2^n} = \lim_{n \rightarrow \infty} 2 = 2$$

$$\sqrt{2^2 + 3^2} = \sqrt{13} \neq 2 + 3$$

$$a_n \leq b_n \leq c_n \quad \left(\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} c_n = H \right)$$

$$\sqrt[n]{2^n} \leq \sqrt[n]{3^n}$$

$$\downarrow \quad \downarrow$$

$$2 \quad H=3$$

$$\sqrt[n]{2^n + 3^n} \leq \sqrt[n]{\underbrace{2^n + 3^n + \dots + 3^n}_3}$$

$$\downarrow$$

$$3$$

$$\rightarrow \lim_{n \rightarrow \infty} b_n = H$$

$$\sqrt[n]{3^n + 3^n} = \sqrt[n]{2 \cdot 3^n} =$$

$$= \underbrace{\sqrt[n]{2}}_1 \cdot 3 = H$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{a^n} = a$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{2} = 1$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{\frac{1}{2}} = 1$$

$$\lim_{n \rightarrow \infty} \sqrt[n]{n} = 1$$

(newsetes)

$$\lim_{n \rightarrow \infty} \sqrt[n]{n^2} = \lim_{n \rightarrow \infty} (\sqrt[n]{n})^2 = 1^2 = 1$$

$n=1$
 $n \quad n^2-1$
 $1 > 0$
 $n=2$
 $n \quad n^2-1$
 $2 < 3$
 $n=3$
 $n \quad n^2-1$
 $3 < 8$

$(0; \sqrt{3}; \sqrt[3]{8}; \sqrt[4]{15} \dots \Rightarrow 1)$
 $\lim_{n \rightarrow \infty} \sqrt[n]{n^2-1}$
 $\sqrt[n]{n} \leq \sqrt[n]{\frac{n^2 - \frac{n^2}{2}}{2}} \leq \sqrt[n]{\frac{n^2 - n}{2}} \leq \sqrt[n]{n^2-1} \leq \sqrt[n]{n^2} = (\sqrt[n]{n})^2$
 $\downarrow (n>1) \quad \downarrow (n>1)$
 $1 \quad \sqrt[n]{\frac{n^2}{2}} = \frac{(\sqrt[n]{n})^2}{\sqrt[n]{2}} \rightarrow \frac{1}{1} \rightarrow 1 \quad \downarrow 1^2 = 1$

12.17. vizsga. 6. fel.

$$1 \int_1^2 \frac{x^3 + 2x + 1}{x^2 + x} dx$$

$$\int \frac{x^3 + 2x + 1}{x^2 + x} dx \quad \textcircled{1} \text{ polinomosztás}$$

$$\begin{array}{r} x^3 + 2x + 1 : x^2 + x = x - 1 \\ \underline{\ominus x^3 + x^2} \\ 0 - x^2 + 2x + 1 \\ \underline{\ominus -x^2 - x} \\ 3x + 1 \end{array}$$

$$\int \frac{x^3 + 2x + 1}{x^2 + x} dx = \int \frac{(x-1)(x^2+x) + 3x+1}{x^2+x} dx =$$

$$= \int x - 1 + \frac{3x+1}{x^2+x} dx = \underline{\underline{\frac{x^2}{2} - x}} + \int \frac{3x+1}{x^2+x} dx$$

$$\int \frac{3x+1}{x \cdot (x+1)} dx = \int \frac{A}{x} + \frac{B}{x+1} dx = *$$

$$\frac{3x+1}{x \cdot (x+1)} = \frac{A}{x} + \frac{B}{x+1} = \frac{A \cdot (x+1) + Bx}{x \cdot (x+1)}$$

$$3x+1 = A(x+1) + Bx$$

$$3 = A + B \quad B = 2$$

$$1 = A \rightarrow A = 1$$

$$* \int \frac{1}{x} + \frac{2}{x+1} dx = \underline{\ln|x| + 2 \cdot \ln|x+1|} + C$$

$$\int \frac{x^3 + 2x + 1}{x^2 + x} dx = \frac{x^2}{2} - x + \ln|x| + 2 \ln|x+1| + C$$

$$\begin{aligned}
 1 \int^2 \frac{x^3 + 2x + 1}{x^2 + x} dx &= \left[\frac{x^2}{2} - x + \ln|x| + 2\ln|x+1| \right]_1^2 \\
 &= \left(\frac{2^2}{2} - 2 + \ln 2 + 2\ln 3 \right) - \left(\frac{1^2}{2} - 1 + \underbrace{\ln 1}_{=0} + 2 \cdot \ln 2 \right) \\
 &= \frac{1}{2} - \ln 2 + 2 \cdot \ln 3 = \frac{1}{2} + \ln \frac{9}{2}
 \end{aligned}$$

$$\begin{aligned}
 \int \frac{3x+1}{x^2+x} dx &= \int \frac{1}{x^2+x} \cdot (2x+1) dx + \int \frac{x}{x^2+x} dx \\
 &= \ln|x^2+x| + \ln|x+1| + C
 \end{aligned}$$

$D_f \rightarrow 1p$
zims }
spec. kul. } $1p$

hata're'ti'z $\rightarrow 2p (3p)$

$f' \rightarrow$ szil. + man. $\rightarrow 2p$

$f'' \rightarrow$ raw. + injl $\rightarrow 2p$

rajz $\rightarrow 1p$

$R_f \rightarrow 1p$

$$\int \frac{1}{dx} dx = \int \frac{1}{\frac{e^x + e^{-x}}{2}} dx = \int \frac{2}{e^x + \frac{1}{e^x}} dx =$$

$t = e^x$

$$= \int \frac{2}{t + \frac{1}{t}} \overset{dx}{dt} = \int \frac{2t}{t^2 + 1} \cdot \boxed{\frac{dx}{dt}} dt =$$

$! = \frac{1}{t}$

$t = e^x \quad (t > 0) \quad x(t) = ? \quad x'(t) = \frac{dx}{dt} = (\ln t)'_t = \frac{1}{t}$

$\ln t = \ln e^x$

$\ln t = x$

$$= \int \frac{2t}{t^2 + 1} \cdot \frac{1}{t} dt = \int \frac{2}{t^2 + 1} dt = 2 \cdot \arctg(t) + c$$

$\downarrow t = e^x$

$$2 \arctg(e^x) + c$$